
 Moles Calculations

Types

Formulanasscalculationsm

a Ala 50 3 342 3g
b Naz103 101720 286
C CH cook 60g

Types

Percentage of of that
element in coupon

total mass

IIIa
100

Percentage of

water in a IatiIIfate too

hydrated salt hydrated salt

Type 3

I mole Cost 60g
I mole H2O 18g



Typef
Molar mass of Co2 44g not
Molar mass of Clt Clt OH 16g not

Type 5

No of moles mass
molar mass

a Mass of 0.23 mot HN03 14.5g
b Mass of 3 not 502 192 3g

Typed
Molar Volume Volume of t note any
gas at r t p is 24 dm

No of moles Given volume indu

molar volume dat

type
1 mole of any substance contains 6.02 1023particle

number of molecules No of moles X 6.02 1023



b ee les t o m es

calculate number of atoms

20g of Ctl ft X 5 6.02 1023

Calculate the number of ions

a 20g A 2150473 3 3
X 5 6 02 1023

b log Naz 03 X 3 6.02 1023

C by My LOH z
I

3
X 3 X 6.02 1023

Calculate number of electrons

a 24 da No 2214 X 15 6 02 1023

by 29 CO2 II X 22 6.02 1023

Type 8

Concentration

Mol dm 3 ydm3



1.0 NaOH to
0.01 3 Iz
005 At 0.5

0.42 40 505

No of moles a concentration moldms X volume dm

Typed
Combustion Reaction

xHy x Y Oz X Coz 2 H2O
9 23 g t 502 3 Coz t 4h20

CHz SH
t 3025 coat Boztzltro

90 e 3 3000123

0600375
3000

É



Typed

percentage purity mass of the

mass of the

substance including

20g of Na H Oz impure reacts with
excess 17250 canal
2dm 3 Coz is produned Catulate the

percentage purity

Typed

Ittigistians Hasan reacts

completely with 20cm NaOH lag
Calculate the concent of NaOH

Azsoy 2Na OH NazSo 2120

Foto X G It

s y 5 10 3 9 10 3 0.45 not di



45 10

pg
ol n

Typed
Limitingreactant

Gog of Caco reacts with 40C 3

0.5 not du ANOz Calculate the

volume of CO2 produced

Caco 217100 5 Ca No H2O CO2
O G 0 12

1
0.6

Fox 0 5 0.02

0.01 24000 211043

Typed
Thermal decomposition

Calculate the volume of gas is produced
due to the decomposition of og



I e de mps or g
a NO e

altos 3 Cao 2h02 II

If 0.2439mn 71.7 2 g 14.623

Mg No z Mgo 21002 II
20g

Ba Nos Bao 2ND IE

20g

Total volume of q If 53

X 24 II

2 0.92

2.54 d 3

6 49 3.67

bi lo 16



Type1

percentage yield experimental value

theoriteal value
X 100

30g Caco reacts with excess HCl lags
to make 4 243 Coz

Calculate the percentage yield of the reaction

Caco 24C I Call at Hao COL
03 7.2

101 0.3 12 100 5567

Typets
Redoxcalsulations

Cr 0,2 H At be 2 Cast H2o

MnOf 84 55 Matt 4h20

Reduition Mno 84 55 Met 4h20
Oxidation Felt Fest te



a e

Overall Mno 8 Ht 5 Felt Mitt f Festa

Reduction Mno it 8 At 5é Mit Hzo

Oxidation 426204 52102 2 At t Ze

Overall 214m05 16Htt 5112604 2Mt 8420710cg lot
2mn05 6Htt 5172620 52112 84 0 10602

Type

Relative atomic mass

Average mass of an atoms relative to the

mass of an atom of C 12

Relative isotopic mass

Mass of an isotope relative to Ith the

mass of an atom of C 12

Relative molecular mass

The average mass of the molecules relative
to Iz the mass of an atom of



12

Carbon 12

Example 1

Chlorine has two isotopes
C1 35 757
C1 37 7 257 35 75 37 25

Is
35.5

Example 2

35
13,711002 35 5

35 37 3550 3700

x 757

l 35 757
I 37 2ft

Example 3

Isotope Relative isotopic
Mass

Perienfage
Abundance



My
24

24
79

µg
6

26 I

try 24 8 10

79 24
41461412 a 3

x 24 8


